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QUESTION BOOKLET

This question paper contains 170 questions. / 38 37 9 H170 5 & |
All questions are compulsory. / @ I3 31f4a/ & | .
One question carries half mark only. / T I%4 o foTu Shaet amen 37 2 |

Maximum Marks : 85 afaa»—cm 3 : 85
Time : 2 Hours ;290
1.  The nurse decides to take an apical pulse instead of radial pulse Which of

the following client conditions influences the nurse’s decisions ?
(A) A client with an arrhythmia
(B) An 18 hours postoperative client

(C) A client in shock
(D) A client’s response to orthostatic changes

gfiiest 3 310 A1t o Sy STy A€ SAtaq @ i forn | frafaRea @ @
et <61 i =t Feafey it 3 ot st el st 2

(A) Terarerar ufya Tt

(B) 18 =19¢ qd Srexfsha fokam Tt EE

(C) gl & & v e

(D) 3eaer-fefost e o wfer Wit <t smforn

What is the priority nursing intervention for a patient during the immediate
post-operative period ?

(A) Observing for haemorrhage

(B) Maintaining a patent airway

(C) Recording the intake and output

(D) Checkmg the vital S1§15 every 15 minutes

SN Tek Tt ok ToTw sira i seasid oo 2 2
(A) W%WW (B) el ITY9 1 TEETE
(C) 3= aun fanfa &1 a1fieies (D) 9%k 15 e & wongg ferel <t St

Which type of nursing has a non-traditional setting in which preventive and
primary can be found ?

(A) Community health nursing (B) Office nursing

%2’ Occupational nursing (D) Parish nursing

TR i AR § N -qrufe af gt & foew fane qun sefies 3w=r
T ST Hehell & 2
(A) TR TTE TG (B) 31ty FfdT
(C) =aaaTtes i (D) It AT
Which of the following clinical finding indicates the patient is experiencing
hypokalaemia ?

(A) Oedema (B) Muscle spasms
C) Kussaumal breathin (D) Abdominal distention
T Y M UEEH g A BT @ Tob T “BrITIsheA (R’ &
I IR ? ?

(A) S (B) ﬁ?{ﬁ?{ﬁl‘gﬁ? (C) T vagd (D) 3l paAra
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5.  As a safety alert the nurse is aware that the following medication is never
given directly intravenously.

(A) Potassium chloride (B) Lasix

(C) Dextrose (D) Calcium Gluconate

Teh GLEAT <IaTaH! o i X IHETRET 39 o1 | 37a7d & fob fe yebm 6t garsat
?mﬁ%ﬁw&w/ﬁm 3{a: ¥ 7€l €t S |

(A) TIREW FIEE (B) e
(C) < (D) Hfcaay epe
6.  Which of the following is an appropriate nursing action when caring a

patient who has a radium implant for cancer of cervix ?
(A) Restrict the visitors to a 10-minute stay

(B) Store urine in a lead-lined container

(C) Wear a lead apron when giving care

(D) Avoid giving IM injections to gluteal region

/= o 9 31 o v Iugw AT TR 8, 99 e v % o ue e
ST aTet T hl é@mm A 8 2

(A) gaAThIfcl & 10-fie qeh o 38Ue W Ush &M |
(B) Ig-3IRA Shre- § T T TUEY

(C) <@YTA ¢d TUT I UIH U&-H1

(D) Tiaeta & # IM s~iaeH ¢ € Tas il

7.  Colour coding for Nitrous oxide cylinder is

(A) Black (B) Black with white shoulders
(C) French blue (D) Gray
T3 ATFETsS foeistl o fou Her HifsT T2 7
(A) wHrel (B) T%e 37H % T el
(C) W= e (D) 9=
8.  In brain death all are seen except :
(A) Diabetes incipidus (B) Apnoea
(C) Constricted atropine pupils (D) Pulse rate unresponsive
HieTseh 7o | 3 9t @™ <d &, e
(A) =g T (B) vy
(C) Tazpet g W= gafet (D) TUEH T AT
9.  McBurney’s point is located in which of the following quadrant of abdomen ?
(A) Leftupper (B) Leftlower (C) Rightupper (D) Right lower
I T Trqerter | ket foig safea & 2
(A) SRI3W (B) s@if=en  (C) <™i3Iw (D) crT e
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10.

11.

12.

13.

14.

A 75-years-old patient who had undergone knee replacement surgery,
which size of cannula is used for infusion ?

(A) 16 gauge (B) 18 gauge (C) 20 gauge (D) 22 gauge

T 75 ot W, S ged i gl eAfshan | TeRaT ], MM % foe fha
TR (FTSH) <hl HegeAT T ITANT BN 2

(A) 16T (B) 187 (C) 207 (D) 227

The nurse is admitting a client with a suspected fluid imbalance. The most
sensitive indicator of body fluid balance is

(A) Daily weight (B) Serum sodium levels

(C) Measured intake and output (D) Blood pressure

IRETTERT det 3TEge 1T aTel Ut <! Usfie hicht B | SRR aRet Tde o1 aed
CIPERCIENICIIRE R

(A) e uR (B) HiHHfgmn & [EEE

(C) 7a:ugur 3R ffa st oo (D) &= S

Which of the following would the nurse expect to note on ECG as a result
of decreased potassium level in the blood ?

(A) U-waves (B) Absent P-waves

(C) Elevated T-waves (D) Elevated ST-segment

Th T IR R ged & IRumEEY ECG W 1 # & =11 A1 & &6l Tk
qiErTienT & S0 R 2

(A) U-qu (B) DP-atm ot srgufeafa

(C) 3aifera T-ad (D) ifetd ST-Qve

Absence of an informed consent while performing a procedure on patient
can lead to which of the following charges ?

(A) Fraud (B) Assault and battery
(C) Harassment (D) Breach of confidentiality

Tft o g wfskan td w9 giua wiefa (Teafa) 6 sefeafa = § 3 fea
TR b QST ohl % HUHL HLdl & 2

(A) grEsTSH (B) 3TShAT TAT TER
(C) 3adted (D) TIOIaT W
Allen’s test checks the patency of the
(A) Ulnar artery (B) Radial artery
(C) Carotid artery (D) Brachial artery
T 1 W1eT01 ferieh TTehed <l g a1 @ 7
(A) AT ot (B) Sfegehis gu-t
(C) == gu-t (D) Wugl guHl
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15. A nurse observes that the fingers of the casted forearm of a patient with
fracture ulna are pale, cool and capillary refill delayed. She has to interpret
1t as;

(A) Nerve impairment is developing in the fingers

(B) Arterial blood supply to the fingers is reduced

(C) A normal finding

(D) Venous stasis occurring in the fingers

Teh IHETRET T8 IR hidl & foh 3Td:ThIB ¥oH aret W % geyaferd
I -1g 1 ITferar dieft qem vt & aum Hireran &1 gl ¢ ¥ a7 | 39
g FHSHT &I 16 ;

(A) STt & a3t e fasfa gl @i R |

(B) Srferali # el Tk SY(d A &1 T |

(C) T frsp B |

(D) 3Tfere H RRTaeh T3 gfed I @1 8 |

16. While performing tracheostomy suctioning, suction time should be not
more than;
(A) 10seconds (B) 20seconds (C) 30seconds (D) 40 seconds

0T T HHE, T[T 1 THA SHH JA(ereh TE g1 SR :
(A) 10958 (B) 208%vs  (C) 308%vs (D) 40 AHvS

17. Which of the following is used to assess the function of brain stem ?

(A) Cold calorie test (B) Glasgow coma scale
(C) Braden scale (D) Intra cranial pressure
HfGTSh T o R T SATheT i o 1T FeT | 1 ek glaT 8 2
(A) hies HeAR) udiero (B) TGITERT! ShIET HTYA
(C) S& 9= (D) 37d: T qarel

18. In Maslow’s hierarchy of physiologic needs, the human need of greatest
priority is;
(A) Love (B) Elimination (C) Nutrition (D) Oxygen
HIEA o ¢feeh STTATIRATI o TGIIshH H A <hl AN STAT STEIThdT i Hl
g7
(A) 3| (B) &S (C) diyur (D) 3Terefie

19. What is the usual site of intra muscular injection a nurse will choose in an
adult for Z-track technique ?
(A) Deltoid (B) Rectus femoris
(C) Ventrogluteal (D) Vastus lateralis
Z-3 qohi1eh o foTT Ueh ek T Weh UNEITRERT 37U SolaRT o shid Hf H15e
STHAR T == Sl ?

(A) ScRMEE (B) WAHAINE (C) A=rdFa (D) I=H oieliierd
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20.

21.

22.

23.

Bleeding is prolonged in all the following except :

(A) Viper bite (B) Idiopathic thrombocytopenia
(C) Haemophilia (D) Von-Willebrand disease
whemE 31 aeft 1 yafed war g, e

(A) 3T H HeA W (B) 3mzfeamfes graramret=
(C) Emrdifern (D) at-dfifersirs T

Which part or parts of the pharynx have both respiratory and digestive
functions ?

(A) Nasopharynx and oropharynx  (B) Oropharynx only
(C) Oropharynx and laryngopharynx (D) Laryngopharynx only
TE 1 S a1 Tean (w1 fae vaeH geeh aun e aFl i T 8/8 7

(A) TTEEE U1 @ (B) had qEIEH
(C) HETIE a1 WO (D) haet TE!

Mr. John is in continuous pain from cancer that has metastasized to the
bone. Pain medication provides little relief and he refuses to move. The
nurse should plan to;

(A) Reassure him that the nurses will not hurt him

(B) Let him perform his own activities of daily living %ﬁﬁ

(C) Handle him gently when assisting with required care e

(D) Complete care quickly as possible

oft SiTEe SHET o T Tt &€ o B W1 =ATH et gfgdl deh uge T 8 | €8
T BB TG 0 SH Cfl & T T S I T HL T & | TREATRGHT T =00
SATATSHT b1 =MBY 7

(A) 3! H: RTE Huft foh ufaiepnd 39e 31m8d T8 St |

(B) 3eh! 319t ¢feh ifafafemt gg w ot |

(C) IATaTIh CEYTE o H1Y HILIAT o T1Y gSed hit |

(D) a1 St 81 c@Te ftd quf i |

Valsalva maneuver can result in bradycardia. Which of the following
activities will not stimulate Valsalva maneuver ?

(A) Use of stool softeners (B) Enema administration

(C) Gagging while toothbrushing (D) Lifting heavy objects

FreraTeal HgeR sEiehTiean § qiafdd & dehdl & | FH § & i €t mfafafest
STeTHTeaT e 3l UTd & St 2

(A) HA HGah 1 ST (B) UiHHET YgH AT

(C) TSI hid qHA AT AT (D) 9l S 33T
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24.  Which action by the student nurse is most appropriate in caring a patient
who has a diagnosis of thrombophlebitis ?
(A) Apply a heating pad to the involved site
(B) Elevate the client’s leg 90 degrees
(C) Instruct the client about the need for bedrest
(D) Provide active range-of-motion exercises to both legs at least twice
every shift

T feed i e g Teh Wit shi c@wrat | foremeff afwnfes gra ym: Sww
fore s gt 2

(A) STTIE T T S5 U T ST

(B) Trft o W =T 90° deh IATeAd HEAT

(C) TN <Rl SATTH 6T FTeRHAT hl T &1

(D) ST <! HH & HH T Fde o g IR |fehr 7ifd wE HEd TgH T

25. Which is the most relevant knowledge about oxygen administration to a

client with COPD ?

(A) Oxygen at 1-2 L/min is given to maintain the hypoxic stimulus for
breathing

(B) Hypoxia stimulates the central chemoreceptors in the medulla that
makes the client breath

(C) Oxygen is administered best using a nonbreathing mask

(D) Blood gases are monitored using a pulse oximeter

COPD dTet Ueh TR} Shl AT ¢ <hl T FEerd STHehRI i H 2 2
(A) e o fore Afta 31 - stediEar & w@rEE & fou 1-2 L/, w sfediss

T |
(B) 3TcU-3TTRrdT Agell H hefld HIHTE &1 I s WM 1 vaaq o
TRt B

|
(C) ATHIS 1 Yo A8 &9 ¥ F11-TerefiT A=k o Iu=T & &1 Hehel1 2 |
(D) Ueh UoH JTRETICT BT STIT hich Tod T bl IS fohaT ST 2 |

26. During the first 24 hours after thyroid surgery, the nurse should include in
her care;
(A) Checking the back and sites of operative dressing
(B) Supporting the head during mild range of motion exercise
(C) Encouraging the client to ventilate her feelings about the surgery
(D) Advising the client that she can resume her normal activities
immediately

ARRIIE ACABHAT & TG TUH 24 T} o GRH, TRETERT Pl @IS gt |
ST AT =TT :

(A) 3rTaifea S st ava auT uTwe i Sire BT |

(B) ﬂﬁawﬁu%ﬁjﬁ%‘cﬁmvﬁﬁﬁmﬁl

(C) wreafsran & gy 1 7T TEATST Bt STt fHehTe @t IR T |
(D) gﬂﬁa—gmﬁ%a@aﬁmﬂmnﬁﬁfﬂm@ﬁmg@wm
|
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27.

28.

29.

A chemotherapeutic agent SFU is ordered as an adjunct measure to surgery.
Which of the following statements about chemotherapy is true ?

(A) Itis alocal treatment affecting only tumour cells
(B) It affects both normal and tumour cells
(C) It has been proven as a complete cure for cancer
(D) It is often used as a palliative measure

A TSHAT o HETIH IUTH o dI I Teh HIHIGUL I h Tsid SFU o1 3Tel T Sirar
2 | ISRt o dey U i I1 HUF el B 2

(A) T Teh LT ITER & S heled AT HIRTHIST hl THTFId LT 2 |

(B) ¥Ig TTHTT AT AT <HITITRT ST ohl THTFrd ST & |

(C) e % foru wep =t farfepcan 3 4R o Tonfia 81 g1 2 |

(D) Ig STHER T 3T o AR T I BT & |

Which nursing measure would avoid constriction on the affected arm
immediately after mastectomy ?

(A) Avoid BP measurement and constricting clothing on the affected arm
(B) Active range of motion exercises of the arms once a day

(C) Discourage feeding, washing or combing with affected arm

(D) ll:éa;;f the affected arm in a dependent position, below the level of
T -3ITE oh LT LT THTEd ST O | ohid &1 AR T e ?

(A) BP U9 & &S AT aT TUTfd Y1 T HUST HET |

(B) fe7 o ush SR Gfeha g1 Shl shatd SHamT |

(C) wTferd ST & WM, €1 AT ATeT S bl galcaTied BT | %ﬁ:&
(D) reTfera o bt weh et Feufey @, wed v & A | e

What would be the MOST therapeutic nursing action when a client’s
expressive aphasia is severe ?

(A) Anticipate the client wishes so she will not need to talk

(B) Communicate by means of questions that can be answered by the
client shaking the head

(C) Keep us a steady flow rank to minimise silence
(D) Encourage the client to speak every possible opportunity

g@ﬁiﬁﬁwwﬁﬁﬁﬂtﬁaﬁwﬁw%ﬁmﬁqﬁﬁwﬁw
?

(A) T <t STSIST BT GATTHE T I dTieh 3 ST ohi chl STTELIHT 7 & |
(B) ¥ g R bl foreent 3T Wit 3ro o feetrent ¢ &k |

(C) el 1 =[FH ST o Tt Teh FRR yaTd! sae s |

(D) T} bl T GHTerd STTER T St ! HTcaTiad il |
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30.

31.

32.

33.

A 70-year-old female comes to the clinic with osteoarthritis. Which would
be excluded from the clinical pathway for this client ?

A) Decrease the calorie count of her daily diet

B) Take warm baths when arising

C) Slide items across the floor rather than lift them

D) Place items so that it is necessary to bend or stretch to reach them

T 70-aTa Aige e |y s o WY fFaie W 3T & 2 39 W o fow
fafercefta w1 o & =R g fean smam 2

(A) 3 ek JTER | heAll 3¢ HH HL T |

(B) N 33+ T IRH U & TH T |

(C) TEI3Ti ! IH o T B3 & AT |

(D) U T8 TEqC Tl 98T qeh g oh [o10 ST AT Rg=ma Jmawes & |
When obtaining a health history from a young female patient/with probable
Acute Lymphoc%tic Leukemia (ALL), the clinical manifestations nurse
should expect to be present are

A) A petechiae, alopecia B) Anorexia, Insomnia
C) Anorexia, petechiae D) Alopecia, bleeding gums

Telt Teh JaT & Wit & W1y i 3 9T
T U, THETRERT I hiF | AT Tehelohu TEqd BT chl ST Tt ?
(A) TRl T (B) &&meI, ITfgT
(C) Furaim, wrfag (D) TISIT9H, §&d T4
Transurethral resection of the prostate is performed on a client with BPH.

Following surgery, nursing care should include;
A§ Changing the abdominal dressing

B) Maintaining patency of the cystotomy tube _
C) Maintaining patency of a three-way Foley’s catheter for cystoclysis
D) Observing for haemorrhage and wound infection

BPH daTe1 Tk Tl 9T HT&eE QA:eh1C EFI TRl T | Srealsha <
T ATET Q@I H I GiEfeTd BT =T(eg, ?

(A) Ieli i bt se

(B) TATIR Tedl Ve <hl SHToGAT Shl TG

(C) TaeeiareTraféd o foTe weh f1-Anfl wief! heet i JFevgdl I [EE

(D) THETE qUT =TS ThHUT T STTcATeh

Nurse would know that a post-TURP client understood his discharge
teaching when he says I should; '

A) Get out of bed 1nto a chair for several hours daily

Bg Call the physician if my urinary stream decreases

C) Attempt to void every three hours when I’m awake
D) Avoid vigorous exercise for 6 months after surgery

TRTTERT Sl 918 T BT =118T foh T diee-TURP Wit 319t fewamst difem =
(A) T e $S Ui o foTT 9 & Tehet L el 1 st =1 |

(B) W3l fthsfiza ol shict i1 =M(ET Sl 5 1 Y@ e SAav e |

(C) T3 T o € § THH i 1 T BT AT S H ST 5T F |

(D) T3 IeAThAT o IR S: HIE o T T&eT heRd & Tasl T AT |
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34.

3s.

36.

37.

38.

Gurpreet, a retired farmer has been admitted with a diagnosis of acute
lymphoblastic leukemia. When he is receiving chemotherapy, nurse Liza
should assess for the development of life-threatening thrombocytopenia by
monitoring the client for

(A) ﬁli;']er ﬂ_{gﬁ(_?)?'ﬁaDiarrhoea (©) él;adache % I%aematurla
EQED HTRTEhIIITEA o3Il BRG]
%&TWIWG’&'W@T@WW@@ e URGETHERT it <t % for

ﬁiﬂaﬂﬁﬁzﬁnmaﬁm%%@%ﬂmmﬁﬁmaﬁq@w
TR AT AT |

(A) S (9@N) (B) =fdER ,

(C) fameg (D) THiE (Ieme H )

Mary who was diagnosed with brain tumour was scheduled for craniotomy.
In preventing the development of cerebral oedema after surgery, the nurse
should expect the use of;

(A) Diuretics (B) Antihypertensive

(C) Steroids (D) Ant1convu1sants

5dl, foreht Afeash e b1 FGH 3T 8, 1 HUCT-Ised HI Hl 79 foha
2 | reafshan % aveTq yHfEafsha sier i gfg i Uskermm o fore afefient g

<O ST BT ST :

(A) STRfead (B) Tl-grmefdE

(C) wIgH (D) T-HHaTEHE

Most common cause of Esophagitis is e
(A) Myasthenia gravis (B) Glossoplegia BT
(C) Duodenal ulcer (D) Reflux esophagitis
TG SN T e —FHT BRI &

(A) TR (B) Trmgr-=ma

(C) maeft (D) 3THETE AT e

A client is experiencing spinal shock. Nurse Meghna should expect the
function of the bladder to be which of the following ?

(A) Normal (B) Atonic (C) Spastic (D) Uncontrolled
Teh Tt HEGE! ATETd 1 UG Hidl & | THETERT HeHT i ¢l dTiee, b
TEERIEE 7 N ’

(A) 9= (B) 3N (C) w&aw (D) AfEtE

Nurse Rosy assesses vital signs on a client undergone epidural anaesthesia.
Which of the following would the nurse assess next ?

(A) Headache (B) Bladder distension

(C) Dizziness (D) Ability to move legs

Wﬁwﬁﬁﬁqﬁw@@ﬁmw&a@ﬁiﬁﬁw waﬁwﬁm
%h_q'[ |Wﬁmw3@|(’“%d °I'){"|I‘C|II6K‘7

(A) fored (B) T
(C) ==t (D) W <t Tmedar
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39. Retina is most sensitive at;

(A) Optic disc (B) Periphery

(C) Macula lutea (D) Fovea centralis

e waife HogTeiid aidl & |

(A) 3T feen (B) uita

(C) Hergen e (D) reftar &=tford
40. Which cranial nerve has the highest number of branches ?

(A) Vagus nerve (B) Trigeminal nerve

(C) Facial nerve (D) None of these

fopet STt dforent § watfies T | s @ 2

(A) ATH dfeht (B) 2reAfiHe dfireht

(C) wie=ret dfre (D) T ¥ I TE

41. Which of the following statement is correct for node of Ranvier of nerve ?
(A) Neurilemma is discontinuous
(B) Myelin sheath is discontinuous
(C) Both neurilemma and myelin sheath are discontinuous
(D) Covered by myelin sheath

TlIeRT <t TR M3 o foTu ot & bl o1 shem &gt 8 2
(A) I IEAd BT # |

(B) wrfer S Sad Biar @ |

(C) dfrepTerr qerm qrfer s ST 31&ad BiaT 3 |

(D) o8 wrRIfe 3t & Frrafid g ? |

42. Parkinson’s disease (characterized by tremors and progressive rigidity of
limbs) is caused by degeneration of brain neurons that are involved in
movement control and make use of neurotransmitter
(A) Acetylcholine (B) Norepinephrine
(C) Dopamine (D) GABA
Wﬁ%mwmﬁﬁaﬁﬁaﬁwwﬁﬁﬁ
(TTEATUTShd & UGl <hi U AT Shiveh €A gear &) adm

IR H BT ‘aﬁ?n g |
(A) THfeTRIeE (B) ArufuAfE
(C) ST (D) GABA (TTraT)
43. Gallow’s traction is used for;
(A) Fracture shaft of femur (B) Fracture neck of femur
(C) Fracture humerus (D) Fracture tibia
Tl 1 FHYT o foTC s grer 2 |
(A) TraeTfed gg wom (B) frdenfey e o=
(C) wfgeht wsH O BELEICEIREE
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44.

45.

46.

47.

48.

49.

The nurse must know that the most accurate oxygen delivery system
available is;

(A) The venturi masks (B) Nasal cannula

(C) Partial nonrebreather mask (D) Simple face mask

mﬁﬁmmﬁaﬁﬁwaﬁwwmw

(A) gl =T (B) ST ohegel

(C) if3reh A-{sfter areep (D) T HH-HTEh

Which of the following is used in the management of hyperkalaemia ?

(A) Insulin with glucose (B) Sodium bicarbonate

(C) Potassium chloride (D) Magnesium sulphate
BTIULhATHAT o YaieH o foTu fet o & &1 W3k gran & 2

(A) W%m@xs@%ﬂ (B) Hifsam argehaiqe

(C) dIRrm Fiiss (D) #ifrem gethe

Which of the following ECG findings indicate the presence of hypokalaemia ?
(A) Tall, peak T-wave (B) ST segment depression

(C) Widening of QRS complex (D) Prolonged PR interval
7 9 9 BH T ECG SI5feT gdchel 5T i $RTd ohid & ?

(A) 3=, I T-aa (B) ST @vs Hed

(C) QRS % &1 heAd (YER) (D) fexffa PR siatrer

Kaposi’s sarcoma is associated with;

(A) Human papilloma virus

(B) Human T cells lymphotropic virus type (HTLV-I)

(C) Human immune deficiency virus Eﬁﬁ'
(D) Epstein Barr virus G

U TR T fehdeh Ty HEfed B ?

(A) o Uit arRRd

(B) @A &-Hed ferbigiftheh amad 2rsq (HTLV-1)
(C) THT TR SHIEATHT T

(D) THH ST IR

The normal mean pulmonary artery pressure is;

T HTET BHBET 901 gora &

(A) 10-15 mmHg (B) 15-20 mmHg

(C) 20-25 mmHg (D) 25-30 mmHg
Which of the following is a manifestation of pyloric stenosis ?
(A) Projectile omitting (B) Regurgitation

(C) Steatorrhea (D) Tenesmus

fo= 8 9 % g1 Sty gehioidr &1 gt @ 2
(A) Jafq T (B) JcaTeed (C) FETgiy (D) HUA
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50. Crackling, rattling or bubbling is an abnormal sound heard on auscultation
of the chest;

(A) Stridor (B) Rhonchus (C) Rale (D) Wheeze
<ChIEe, TSESEE A1 Yeuared a8 % HEU W GATS ISl STEH
AT &

(A) (B) Wi (C) HTEUEe (D) TRENTES

51. The nurse is assessing a patient admitted with left sided heart failure.
Which of the following a nurse should expect to find ?
(A) Engorged neck veins (B) Dyspnoea
(C) Abdominal distension (D) Tremors of hand
aRETERT SRfT TR o e fawherar arel igel Ut <l Taciie L &l 8 | Th
IRETRERT i FHH § | 1 9T 81 UE] S & 2

(A) 3faafea e fmd (B) TR
(C) 30T heltd (D) T1UH A
52. Moon face with central obesity is noticed in;
(A) Addison’s disease (B) Cushing’s syndrome
(C) Down syndrome (D) Turner’s syndrome
TETR <8 H5Ed HETH I % WY @I e '
(A) TEEH i A | (B) v fagm o
(C) e fagm & (D) T g

53. Which one of the following viruses cause post-transfusion hepatitis ?
(A) Hepatitis A (B) HepatitisB (C) Hepatitis C (D) Hepatitis D
=1 5 | 9 A1 w10 dRe - IR gUSTSieH 1 %R g 2
(A) BREEA (B) BWEfEB  (C) jUeEfmC (D) ruesfedmD

54. A nurse is caring an anaemic patient. What findings should suggest her that
it is acute blood loss anaemia ?

(A) Exertional dyspnoea (B) Easy fatigue on exertion
(C) Bradycardia at rest (D) Postural hypotension

T TRETHRERT Th-3Tedl aTel TR 6l C@WTd o @l & | i & 789 39 I8
gzrra ¢t foh 91 weh oftel Tk g1 WhTeddn @ 2
(A) JITHR 3aEhE (B) TITH I TS Rl
(C) fasnfa W gewear (D) feufast fr= wwhare

55. A nurse is taking care of a patient with DVT and she must be aware that
venous emboli will be lodged in;
(A) Heart (B) Lungs (C) Liver (D) Kidneys
T GiETieR DVT aTet Wi 3l CEHTel oL &l & | 39 39 a1d | 3[a7d 81 &t
=nfe 6 o o el o g3 B |
(A) & (B) el (©) 7%d (D) =
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56.

57.

58.

59.

60.

61.

Physician wants central venous catherization. Nurse has to know which
vein he should make use of;

(A) Radial vein (B) Femoral vein (C) Basilic vein (D) Cephalic vein
HISTTTRM Hrgel for@ hogsiv =Tedl § | Tt i I8 Hd 81 =1y fh
SR H @ R

(A) dfgysig  (B) 3iifds (C) 3asig (D) HUTA

Chvostek’s sign is an indication of;

(A) Hypernatremia (B) Hypercalcemia
(C) Hyponatremia (D) Hypocalcemia
e fg fhas queh 2 7

(A) BRURART (B) SR cAERT (C) SN (D) ERHIhfeaitmT

Myopathy is seen in all except;
(A) X-linked hypophosphatemic rickets (B) Oncogenic osteomalacia
(C) Nutritional osteomalacia (D) Cushing syndrome

Iefiferspfa @vft o feams Toht 2, foam
(A) X-HeH gRIHh ik fehed

Sprengel’s shoulder is due to the deformity of;
(A) Scapula (B) Humerus (C) Clavicle (D) Vertebra

Hieet forgehl faeudr & wrurgar g ?
(A) IEHAS  (B) TS (C) HuaTed (D) HIEHI

A woman treated with lithium during pregnancy, the foetus should be
tested for;

(A) Neural tube defects (B) Cardiac malformations
(C) Urogenital abnormalities (D) Scalp defects .
T Ht I THTEET o G foaferm @ sar=ia fora o | M & 3aeh fote Sita
& B =t
(A) TTEITS dlﬂ%la'q (B) &l HTIT
(C) TETIRR ST (D) Priaes Ffe
All the following provide evidence of faecal pollution, EXCEPT
(A) Faecal streptococci (B) Coliform
(C) Cl. Tetani (D) Enteropathogenic virus
fret Tt Her—ferwereh Srgwor <1 yToT 39 2, e
(A) Hihd TRIhIh! (B) hicfiem
(C) e et (D) T T
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62. Most undesirable metal in drinking water is
(A) Iron (B) Copper (C) Zinc (D) Lead
ERERE K CIPERCCIEZ IR IR .
(A) <8 (B) dism C) = (D) &
63. Disinfecting action of chlorine on the water is mainly due to
(A) Hydrogen Chloride (B) Hypochlorous acid
(C) Hypochlorite ions (D) Hydrogen ions
et T FATN T TrEshmoT el I &9 H 38eh HR0T
(A) BTSN FANES (B) mﬁ%ﬁw@‘s’
(C) BRNFARIES SARM (D) ETESISH T
64. A psychrometer is used to measure
(A) Humidity (B) Air Velocity
(C) Room temperature (D) Radiant heat
fopgreh TTo o fTT Ik BT @ 7
(A) 3Tl (B) agam (C) wgdmaE (D) fafertor e
65. Tertiary prevention is needed in which stage of the natural history of disease ?
(A) Pre-pathogenesis (B) Pathogenesis
©) Prodromal %)) Terminal
ST <1 STeh(ceh $faaTd ohl ford Tarwe o e TR i 3Tavaehal Tad! & 2
(A) W-TTH (B) TR (C) T (D) 3AfcH
66. Sputum examination is the major screening tool for pulmonary
tuberculosis. Clients would sometimes get false negative results in this
exam. This means that the test is not perfect in terms of which
characteristic of a diagnostic examination ?
(A) Effectiveness (B) Efﬁcacy (C) Specificity (D) Sensitivity
AR HI W%‘@ Teh He@ul 3R & | 7S efi-spft 39
Tlieqor H TTerd qﬁvnnmohm%wwmqqmag%%agwﬁaﬁm
giequr <t foper wmneafurerar o Ty ® Tqul €l B 2 .
(A) Serferar (B) q&tan (C) Tufsrwar (D) Gaesfierar
67. What is Coronavirus ?
(A) Itisalarge family of viruses.  (B) It belongs to the family of Nidovirus.
(C) Both (A) and (B) are correct. (D) None of these
IRAE R ?
(A) TEREUEHAIFI TR TG FAE | (B) I8 Hol HeSHmREE 4 Fiid ¢ |
(C) (A) T (B)QHI HEl & | (D) ¥ 4 I3 &I
68. Which of the following diseases are related to coronavirus ?
(A) MERS (B) SARS
(C) Both (A) and (B) (D) None of these
= 5 | A =t STt HRiAT IR | geed § 2
(A) MERS ' (B) SARS
(C) (A)@m (B) THi (D) T & I3 &l
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69.

70.

71.

72.

73.

WHO Steps is used for

(A) Communicable disease (B) Non-communicable disease
(C) Immunodeficiency diseases (D) Auto-immune diseases
WHO Steps feorereh feTt T3 gt & 2

(A) Tk SR (B) 3THshIHS ST

(C) ScReT=d SR (D) -ufceeft s

Corpulence index is given by
(A) Actual weight — Desirable weight (B) Actual weight/Desirable weight
(C) Desirable weight/Actual weight (D) Height (CMS.) — 100

T Y 1 T 8

(A) IRAfeeh gl — aTfesd g (B) arifeeh gH/dTfed aei
(C) dfesd SIS/ fereh a5 (D) 3=TE (Ffh) -100

Leo Kanner is known for his studies on :

(A) Autism (B) Schizophrenia

(C) Bipolar disorders (D) Personality disorder
ST o 379 Tohd 3189 o foTe ST T & 2

(A) TTIURTT (B) fawfved wemar %%3
(C) Tg-yeait ferepfaat (D) ke ferepfd e

During psychiatric interview patient retains a constellation of ideas long
after they have ceased to be appropriate. E.g., “Where do you live 77,
“London”, “How old are you”, “London”. The term used to explain the
condition is:

(A) Perseveration (B) Mannerisms (C) Abstinence (D) Echopraxia
TR HIThT b QR Teh U <l Tl eI o T ek g o folg =i
TohT ST o =T A& fereit amor il 2 St fob 3179 &l W&d &l 27, “wia”,

“3T9h! 31T R § 77, “wig” | 79w ) T S 3 T e R

(A) geufas (B) sqagr{ —afer== (C) diesH (D) fsramgerton

What nursing action would be most effective in changing the behaviour of
a child diagnosed with Attention Deficit Hyperactivity Disorder (ADHA) ?
(A) Reward appropriate behaviour

(B) Sedate the child for acting out

(C) Use aggressive punishment to control undesired behaviour

(D) Use lengthy time out session

TyH Sfthfie gRuEEld feustist (ADHA) feM g te aTeish & =agr |
aiErd | Faiieeh THTE TrET THRH A 91 g 2

(A) 39 AR % forq ™

(B) AT e AT o forw e st

(C) 3rafesd egR ol AR i & oI 3R gue 1 3T

(D) <re Tu o YIH T TN
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74.

7S.

76.

77.

78.

Hippocrates classified mental disorders into

(A) Major and minor mental illness

(B) Psychosis and neurosis

(C) Schizophrenia, mania and depression

(D) Mania, melancholia and phrenitis

feodtshed 3 ATTéh faepfaal w1 aficha fpaT & :

(A) H&I qAT 70T TR ST (B) HTITTH qe =E

(C) Wivgd qHf¥eRaT, IRTCTIH qeiT TG (D) ITTetud, forTg - aen afeash Jere

The delusional belief that others, oneself or the world do not exist.

(A) Primary delusion (B) Nihilistic delusion

(C) Delusion of reference (D) Delusion of persecution
oyt amom fob 3=, gg 1 3 fava sfcaa g7 2 |

(A) Ry fawrfa (B) et fawifa (C) @l fawifa (D) 3cdfie fawfa

The extra pyramidal side-effects of an antipsychotic agents are managed
with following group of drugs except

(A) Dopamine drugs (B) Anticholinergic

(C) Antihistamines (D) Barbiturates

T -HRehIesh USiel o SATd1h e gormEl s Hefaiad gamsal o 998
SR &t fekan S &, foam

(A) SUEEAEH (B) UAhiferse (C) Tz (D) sfdiegied

Delirium is a disorder of
(A) Consciousness (B) Perception (C) Memory (D) Thought

Sferfrm fermeht faspfa 2 2
(A) = (B) 3rEeiYS (C) Hfa (D) fo=mr

Nurse Tamara is caring for a client diagnosed with bulimia. The most
appropriate initial goal for a client diagnosed with bulimia is to:

(A) Avoid shopping for large amounts of food

(B) Control eating impulses

(C) Identify anxiety-causing situations

(D) Eat only three meals per day

qfEient qam gietfirn o @1 fem gu Wt i gy X @ 7 | gt fem
et Tt < fo7w waifaes yRive 2 gﬂ :

(A) | AT | @ sl T @ g

(B) WIS 3A1aT =i fifra s

(C) T shifta e areft uftfefern 6t ug=am e

(D) Yfdfer shaet dfiF SR WIS =T
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79.

80.

81.

82.

A male client admitted to the psychiatric unit for treatment of substance

abuse says to the nurse, “It felt so wonderful to get high.” Which of the

following is the most appropriate response ?

(A) “If you continue to talk like that, I’'m going to stop speaking to you.”

(B) “You told me you got fired from your last job for missing too many
days after taking drugs all night.”

(C) “Tell me more about how it felt to get high.”

(D) “Don’t you know it’s illegal to use drugs ?”_

Teref GERIM % IUAR o [oQ FAITaha™d e H QA g¢ T q&9 Wt

qRETTERT & ShEl, “Sa-T ST Tga- W 95d 37<s] Heq@ 8l Wi s I” = 3 3.

t Taifish 39w SR Bt 2 ‘ o

(A) “afe o 3T UH STd =Te] L@, ot H qHE ST a1 sig SR gt |”

(B) “TA T3t a1 AT fob e Tl | febrer fem i o gt Tt i1 i o wwErel
SHThT Tl o ToT TR T o 1T |”

(C) “H3 3R T3 fob I S Tg= & ST Ha1 a1 8 |7

(D) &1 qH I &l SId Toh T T ITAT AT - & 27

Nurse Mary is assigned to care for a suicidal client. Initially, which is the

nurse’s highest care priority ?

(A) Assessing the client’s home environment and relationships outside the
hospital

(B) Exploring the nurse’s own feelings about suicide

(C) Discussing the future with the client

(D) Referring the client to a clergyperson to discuss the moral implications
of suicide

gRGETRERT Tl %1 Teh ATeHEeN g arel WM sl S@Te o fore T foam e |
TR Shl SwH S@YTel 37T ST 81T 2

(A) T} o O o ATATELOT AT BT o STt & e T Taetieh ST |

(B) ufariient St Gg i 3Tcage o T T ATeH13Tl i Wiet T |

(C) Tt o Ty wierss shi == T |

(D) SATCHEET % ST ATcqa! <hl ==l &g WY bl el o ure Worft |

The colour of amniotic fluid is

(A) Clear pale straw colour (B) Dark colour
(C) Yellow colour (D) None of these
38 A I T HH H A1 8 ? . %ﬁﬁ
(A) | Fooh! Tt T1 (B) U (el
(C) demm T (D) 0 ° His T&l
Who was discovered the Partograph ?
(A) Dr. R.H. Philpoter (B) Dr. A.L. Mudaliar
(C) Dr. William Show (D) Dr. Shirodkar

i @I fope i 2
(A) I 3. fheriret (B) Sl T.UA. Heferam
(C) . faform =i (D) si. gt
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83. Why does the bed rest is essential in pre-eclampsia ?
(A) Prevents eclampsia
(B) Mobilizes tissue fluid circulations and decreases oedema
(C) Prevents premature labour
(D) It improves blood circulation and decreases oedema

TieTqd H Tl ST i R STEvIhdT &l & 2

(A) I S THATH 7 |

(B) Irceh et UILYHTT <l TTfd < TT INY HH i o oAU |
(C) 319ftues J&a i UHYM =g |

(D) I T UIE=RUT GERAT & U7 MY HH HLAT 3 |

84. Which one is the hazard of induction of labour with Pitocin ?
(A) Elevation in blood pressure (B) Infection

(C) Rupture of uterus (D) Early rupture of membrane
UTSITEH & |1Y JHa SFATIETIH 1 Teh JIRGH &

(A) T =9 IUH (B) GshHTI

(C) TSI <1 BT (D) Tereeft 1 d & B

85. How much additional the amount of calories that should be taken by a
pregnant women as per W.H.O. ?

(A) 300 K. Calorie (B) 500 K Calorie

(C) 1000 K Calorie (D) 100 K Calorie

W.H.O. % TT8R T Mie & o1 foraft srfafes amm & Saard o =few 2
(A) 300 ferett et (B) 500 fepett shetidy

(C) 1000 feratt et (D) 100 feret et

86. Which test is commonly used to find out the number of motility and
activity of sperm ?
(A) Protein electrophoresis (B) CMP test
(C) PCR test (D) Hohner test
Tfersfiet qer fsramsfier S[shTo] <t T F1d i < fofe AmaT=raa: fog wieqor
IHANT foha STTan & 2
(A) IEH SoaBRIGE (B) CMP qdieron
(C) PCR udiero (D) BT qdieo

87. Levels of HCG in the maternal circulation typically peak at what level and
at what gestational age ?
(A) 100,000 mlU/mL at 10 weeks (B) 10,000 mlU/mL at 10 weeks
(C) 10,000 mlU/mL at 20 weeks (D) 100,000 mlU/mL at 40 weeks
A TREAT § HCG o W fafrs di W ford & ford st o1g W i
TR @ 2
(A) 100,000 mlU/mL, 10 9418 (B) 10,000 mlU/mL, 10 @9T8
(C) 10,000 mlU/mL, 20 €18 (D) 100,000 mlU/mL, 40 94138
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88.

89.

90.

91.

92.

The nursing care plan for a woman who has placenta abruptio should
include careful assessment for signs and symptoms of which of the
following ?

(A) Jaundice (B) Hypovolemic shock

(C) Impending convulsions (D) Hypertension

mqwmaﬁwaﬁ%%mqﬁﬁé@mawmﬁwﬁﬁmﬁﬁmﬁa
waﬁ%hwﬂ@%waﬁﬁaﬁmmﬁq?

(A) difern (B) ERUEIifieh 3T

(C) Tferehe 3T (D) I=CE

Which area of health teaching will a new mother be most responsive to
during the taking in phase of the postpartum period ?

(A) Family planning (B) New-born care

(C) Community support groups (D) Perineal care

THERR Tafy i TR JrEwen H U A WA WS AL + fhy & §
Taieeh TiaEadt Wit ?

(A) TiER f=em (B) TaSITd <@HTA

(C) W T T (D) T TaTee

Magnesium sulphate i1s ordered for a client who is hospitalized for

Pregnancy Induced Hypertension (PIH). What effects would the nurse
expect to see as a result of this medication ?

(A) CNS depression

(B) Decreased gastric acidity o

(C) Onset of contractions i

(D) Decrease in number of bowel movements

et I S=eeTd % fore gifitaer 5u ueh Tt o o Afifsrm wethe 1 31iet
T T B | 39 TATE o UNUTHEEEY hiF G1 TuTd <@ et shi Ut qiEiieht o
TR BhT ?

(A) CNS 37eH1g (B) ©I g8 TS 3rral

(C) Tpe &1 IRw (D) AT =relt <ht v § it (Frrae)

Cultural traits are acquired through-
(A) Learning (B) Imitation (C) Socialization (D) Contact

HTER 7ok 0T 6k GRI JTH BId & .
(A) IR (B) 3T (C) TR (D) TUeh

If in a family, the offspring inherit the mother’s name, the family is called-

(A) Matronymic (B) Patronymic
(C) Matripotestal (D) Matrilineal
Ife Tk IRER §, Hafd H1dT sl 419 9ROT hidl 8, df T8 qRER sl =1 el ?
(A) TG (B) fugfires
(C) Hureed (D) wraEE
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93. The word ‘Sociology’ is made up of two words. These are

(A) Societies and Logy (B) Societia and Logistia
(C) Socious and Logos (D) Socia & Logos
HITEIATS 36 2 IIsg] hT 12 | < &
(A) TR qT oSl (B) w@fufyen qem aiferern
(C) wfe=g qem e (D) T aur g

94. The three-tier system of Panchayati Raj was recommended by
(A) Kaka Kalelkar Committee (B) Simon Commission

(C) Balwant Rai Mehta Committee (D) Jai Prakash Narayan Committee
31—t ST Tt ToTTeft oAt ST feRereh g bl 7S ot 2

(A) hTHI HToTeTeh Tfhfd (B) HISHA HHITH

(C) wetad T Tgan afufd (D) YIS AR Gifa

95. A postoperative client has been placed on a clear-liquid diet. The nurse
provides the client with which items that are allowed to be consumed on
this diet ?

(A) Vegetable juices (B) Custard  (C) Sherbet (D) Bouillon.

Teh SAHHIT T o et -t HISH T =12 | qieErist gy Ut =l o
T3 T YA BRI S SN foh 39 WisH (SR12) T WM o T 319Ha 2 2
(A) |fesai 1@ (B) e (C) =d (D) WIRST

96. The nurse is teaching a client who has iron deficiency anaemia about foods
she should include in her diet. The nurse determines that the client
understands the dietary instructions if she selects which of the following
from her menu ?

(A) Nuts and fish

(B) Oranges and dark green leafy vegetables

(C) Butter and margarine

(D) Sugar and candy

g <hl SHHT (3THAT) 9Tt Teh W <! IRETHERT I8 Tt T 2 fom i 8 @@ 39
TRIE (Vo) § givtiferd s =nfge |wﬁmﬁwwﬁaﬁmwéﬁ%%ﬁiﬂw
el I3 ! T IET% ¢ 98 39 U H 1 1§ | fohd 1 =74 a1 & 2
(A) HIEHA Ul TSel] (B) Tt e el gt wxier afeat
(C) TG a1 AT (D) ITERL AT HUSt

97. The nurse is instructing a client with hyperkalaemia on the importance of
choosing foods low in potassium. The nurse should teach the client to limit
which of the following foods ?

(A) Grapes (B) Carrot (C) Greenbeans (D) Lettuce

Teh URETNERT BRYTheIHRT aTel U bl TICRREH | 7 81 UH @Y o <39
e gHe @ 2 | aiE=ient g U ) fore @ s Hiftra waan T =nfae 2

(A) 3R (B) TR (O (D) ¥l
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98. Behaviourism, ‘the science of behaviour’ was proposed by:
(A) Sigmund Freud (B) Erik Erickson
(C) J1.B. Watson (D) Ivan Pavlov

SIIENAIE, “SIGER o1 o3I’ o1 Tfaure fehieh gr ?eloql ™ ? §
(A) Trmvg e (B) e Tiehed (C) &1 diewd (D) 39 dEdid

99. Operant conditioning was proposed by:

(A) Ivan Pavlov (B) B.F. Skinner
(C) Sigmund Freud (D) Abraham Maslow
Gk 3TIRa fohteh GRT STadTiGa Tkl T ?

(A) WA UEAE (B) .U, ®hR (C) fmug wree (D) TSIy ket

100. Gestalt is a German term meaning :

(A) “Self- reliance” (B) “Good form”
(C) “Internal conflicts” (D) “Meaning”
TTe Teh U U 8, Torerent 314 2

(A) “TEas”  (B) “3T=®1 @&’ (C) “IAie qus” (D) “37Y”

101. Which is a defining characteristic of living organisms ?

(A) Growth (B) Ability to make sound

(C) Reproduction (D) Response to external stimuli

FF ) TR S ST TR e R 0

(A) g (B) v faeprem <t e

(C) SFA (D) ST&dt I o i ek
102. Binomial nomenclature was first issued in

(A) Systema Naturae (B) Genera Plantarium

(C) Genera Animalium (D) Historia Plantarium

T agfa worm o wehIfrd 8%

(A) T St (B) SR AT

(C) S U™ (D) T wefam

103. Centromere is required for
(A) Transcription
(B) Crossing over oi30
(C) Cytoplasmic cleavage AT
(D) Movement of chromosomes towards poles

T2 <l SATIThdT fehieh foTT Tadt 8 2

(A) I (B) Sf-fafmar .
(C) wiTehIget fagem (D) TR 1 i h1 TR FaeH
104. Plasma membrane helps in
(A) Osmoregulation (B) Protein synthesis
(C) Nucleic acid synthesis (D) None of these
SHelged el TR shid! @ : ’ ’
(A) a1 . (B) SIEIH HYeIwor §
(C) =feereh uftrg weeryor & (D) ST & HE &
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105. The bacterial cell wall is made up of

(A) Cellulose (B) Hemicellulose
(C) Peptidoglycan (D) Glycogen
Sfery &t enifsrent frfa s St 2

(A) HGA HI (B) wHierees bt
(C) ufeeeraresd i (D) TATIRISH hi

106. Extranuclear DNA in cytoplasm is found inside
(A) Golgi bodies (B) Lysosomes (C) Vacuoles (D) Mitochondria

hHITITeRT o8 U ShrgehaTal DNA forges st ur—m Srar @ 7
(A) st ™ (B) «@E@E™  (C) @™t (D) HIEeIHIuEAT

107. One turn of the helix in a B-form of DNA is approximately

DNA % B-%if # gfcTed =1 Teh geid () TFTHT BT 8 :
(A) 20 nm (B) 0.34 nm (C) 3.4nm (D) 2 nm

108. In meiosis, the chromosomes replicate during
(A) Prophase (B) Metaphase (C) Anaphase (D) Interphase
H, TUTEH $8%h SN JTdehd &Id & :
(A) qgf@nﬁ (B) TEEETH  (C) YvETEE(® (D) ITaUaedrd
109. Study of body viscera is called
(A) Angiology (B) Conchology (C) Splanchnology (D) Rhinology
<f&eh 3TaTT 1 TSI HgaATdl & :
(A) TSt (B) isbidst  (C) TSt (D) A

110. Advising persons and patients on nutritional requirements is connected with
(A) Medicine  (B) Nursing (C) Physiotherapy (D) Dietetics
fcRl qUT URTET 1 IV Faehl STTRHATHT TR TS o1 Te1d 8

(A) Afeda (B) fdm (C) sdTdt (D) eEfeam

111. A viral disease known from prehistoric times is
(A) Pneumonia (B) Small pox (C) Poliomyelitis (D) Both (B)and (C)

Y T T {ou1o] 9 &

(A) =i (B) == (3ffaT)

(C) iferiHTEeASied (D) (B) T (C) qH
112. Genetic material of virus is

(A) DNA (B) RNA

(C) DNA or RNA but not both (D) None of these

feremoy =T SATa s Uerd 2

(A) DNA (B) RNA

(C) DNA a1 RNA g a1 & (D) 3T & 1 T
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113.

114.

115.

116.

117.

118.

119.

120.

Botulism is a

(A) Type of food poisoning due to saprophytic bacterium
(B) Disease in man due to parasitic bacterium

(C) Disease in various organisms

(D) None of these

3+

(A) T JehR 6l W |o|l>||rb<1|3ﬁﬂ?m?ﬂ°r3ﬁm%@@ﬁ1% |
(B) Ueh SR AT s | UL Siramo] & gieht

(C) ferfirar Sfiti o weh STl 2 | EEm
(D) =78 &+ 7 | B
Marsh gas is produced by

(A) Mycoplasma (B) Myxobactena (C) Methanogens(D) Halophiles
HTS! T 39 hT AT &

(A) HTRIHIATSHT gRT (B) RIHISHINET g

(C) AYISH g (D) el gra

Sexual reproduction in eubacteria takes place by

(A) Transformation (B) Transduction

(C) Conjugation (D) All of these

oAUt fiTeh ST 359 g &Il 2 .

(A) AT (B) URSHHIT (C) ag™ (D) Iga+
Symbiotic association of fungi and algae is

(A) Lichen (B) Mycorrhiza

©€) Mycoplasma (D) Both (A) and (B)
Hhe AT AT 1 HEHIST Tl 3 : '
(A) WATEHA (B) WEHRISST (C) URSIESAT (D) (A)ddT (B) €Ml

Penicillin is got from an

(A) Alga (B% Bacterium  (C) Fungus (D) Protozoa
T bl STl &

(A) A F (B) Sfram & (C) ®hed (D) RIS ¥

Edible part of ginger is

(A) Corm (B) Rhizome (C) Bulb (D) Tuber

T <l HISY AT & : ’ ’

(A) ®he (B) ¥ (C) IMeehehg (D) =<

Guava fruitis a

(A) Pome (B) Berry (C) Drupe (D) Hesperidium

3THEG H & T

(A) 9 (B) =& (C) 3fEa (D) eewlifeam

Which is an oilseed plant ?
(A) Sunflower (B) Hibiscus (C) Marigold (D) Rose

b &1 T feretet a1ed 7 2 .
(A) gSmeEl  (B) TeEd (C) Tigr (D) TS
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121. The figure of the god that was depicted in the seal of Indus Valley people

ZKI)S Agni (B) Indra (C) Varuna (D) Pashupati
foper e <ht i fieg =mét wezran <6t Hiedl § 3ifeRa oft ¢
(A) i (B) ¥3 (C) =& (D)

122. Who was the founder of Jainism ?
(A) Rishabha  (B) Mahavira  (C) Arishtanemi (D) Parsavanatha
I GH o TEITI i & 2

(A) H/IN (B) WETER (C) AT (D) dTgeTY

123. After the Mauryas, the most important kingdom in Deccan and Central
India was that of

(A) Pallavas (B) Cholas (C) Satavahanas (D) Vakatakas
HIIT o I, GfRe a1 9ET WA § Si 31fd Aewyul 9y o, 9t o
(A) TeaAdi sl (B) =l (C) Faargai sl (D) dTehIeehi i

124. The Mughal Empire in India was founded by

(A) Akbar (B) Babar (C) Shahjahan (D) Aurangzeb
A | ITeT |THTSY Shi LTI fehdreh g hl 718 oft 7
(A) 3H (B) «R (C) IEsTal (D) T
125. The structure of Qutub Minar was completed by
(A) Aram Shah (B) Iltutmish
(C) Qutbuddin Aibak (D) Muhammad Bin Tughlaq
HASHIATR <l TTHT foheeh g1 qui 1 775 off 7
(A) I (B) Wﬁzr
(C) FATEH U5k (D) Hewe fod greteh
126. Swaraj as a national demand was first made by
(A) Chittaranjan Das (B) Jawaharlal Nehru
(C) Dadabhai Naoroji (D) Bal Gangadhar Tilak
TS, Teh UEHT | o dR W, GUH ferereh grn 1 778 off 2
(A) %W‘QTH (B) STETEETe TEE
(C) TIeTS TRISi (D) T TR foeteh

127. Which is a legal advisor of the State Government as provided by the
Constitution ?

(A) Attorney General (B) Advocate General
(C) Solicitor General (D) None of these
-Fl'%[%'ﬂ:f FEUBIEIE I°h<4| T TS LhIL bl °|’>|"j;|l HQ’HS"I’)I{ °h|"| % ?
(A) T SR (B) Ugdlhe T
(C) Eiferfitet sFret (D) 3T & IS Tl
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128. Which can be abolished, but not dissolved ?

(A) Rajya Sabha (B) Municipal Bodies
(C) State Legislative Council (D) None of these
TATH TRt ST Fehdt 7, W forafed T2 foha <1 e 2
(A) T8 (B) TR o™
(C) TsH fou uftsg (D) T8 4 1S T
129. The Chairman and members of State Public Service Commission are
appointed by the
(A) President (B) Prime Minister
(C) Governor (D) Chairman, UPSC

W?ﬁmﬁmmﬂ%wwﬁammﬁﬁgﬁﬁaﬂaﬁ%
(A) Tsufagrr (B) JamEEt g (C) Ts9ual gl (D) 31e9&1, UPSC

130. Which of the following is a chemical change ?

(A) Rusting of iron (B) Tempering of iron

(C) Melting of iron (D) Bending of iron

71 5 8 ®F 91 v vEEfe afEdd g 2

(A) 8T S A (B) TIE %1 YGHUI e
(C) g I T (D) &R &1 g S

131. Electric current is measured by
% Anemometer (B) Voltmeter (C) Ammeter (D) Commutator

(A) qﬁuﬁnﬁagm(B) FeedA g (C) THRAZW (D) BRI GA

132. Red blood corpuscles are formed in
(A) Liver ﬁ'fg:) Small intestine (C) Kidneys (D) Bone-marrow
ATA Th hIVIHIT :
(A) I%a | (B) B A@H (C) I=HH (D) HELSH

133. Aluminium salt commonly used to stop bleeding is

(A) Aluminium nitrate (B) Aluminium sulphate
(C) Potash alum (D) Aluminium chloride
Th 19 ol Uehl oh TTC ATHTRIGAT Sth THIH a0 @
(A) Q@fﬁﬁm?@z (B) TeftfEm aethe
(C) dHrem (D) TAMIH FANTEE
134. World Trade Organisation is the new name of
(A) World Bank (B) IMF (C) GATT (D) IFC
forea SHMIR HiTe fopeem T am 8 7
(A) fava &= (B) IMF (C) GATT (D) IFC
135. The main objective of a firm is to maximize
(A) Investment (B) Production (C) Profit (D) Employment
%H 1 T 3299 BT & %I TgH HET |
(A) Traw (B) 3cured (C) «m™ (D) TUSFTR
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136. Year is longest on

(A) Mercury (B) Venus (C) Earth (D) Jupiter
T G AT 99 BT R |
(A) 39 (B) (©) Tl (D) wewfd

137. The chemically inactive gas present in the atmosphere is
(A) Nitrogen (B) Argon %(_3 Water vapour (D) Oxygen
STATeRel § T 9 & AR TR :

(A) ATgESA (B) 3 (C) S ar (D) SATerEISH
138. The islands of Seychelles are located in the

(A) Arctic Ocean (B) Atlantic Ocean
(C) Indian Ocean (D) Pacific Ocean
HRIATH GI-Tg A2 : ’ .
(A) 3HTeheeh WA H (B) JTATEH HEHTR H
(C) fee weramr d (D) ST WEErR §

139. The main region of Sunderbans is
(A) Ganga — Brahmaputra delta (B) Ganga — Godavari delta

©) Mahanadi%;l[e%ta (D) None of these
HUSH <hT &1 : :
(A) T — ST&TYH Seel (B) T — TiiETeRi e
(C) "Bl e (D) 37H & IS &l
140. Rihand hydroelectric project is located in which state ?
(A) U.P. (B) M.P. (C) H.P. (D) Mabharashtra

Tige T -Torga afErs fope T=a o STafedrd & 2

(A) I (B) 7@  (C) RuE@ ¥ (D) WeRg
141. Which is Himachal’s highest state sports award ?

(A) Arjuna Award (B) Dronacharya Award

(C) Parshuram Award (D) None of these

I 1 fEaTe 1 gdi TsT Wetehe bR & ? .

(A) T IEE  (B) Z0TER aTE (C) TIAH 1€ (D) 6 9 hig
142. ‘Himalaya Par Lal Chhaya’ book was written by

(A) Desh Raj Sharma (B) Shanta Kumar

(C) Rahul Sankrityayan (D) T.S. Negi

fEHTeT™ T 16 BT J&eh fehem fotet 3 2

(A) WS IA (B) WA FAR  (C) Tgd grhedred (D) 3w, =t
143. Which is the only person from H.P. to serve as both Chief Minister and

Governor of a State ?

(A) Dr.Y.S. Parmar (B) Ram Lal Thakur
(C) Shanta Kumar (D) P.K. Dhumal

fedTael Te91 | S 91 Ueh UHT Sehelldl Atk & - T T o fotu gt qen
TSIYTA ST o dR 9 A1 € 8 2

(A) 1. 9M9.TH. WHR (B) THSATA 3Tt
(C) Il AR (D) .. gud
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144. Which became the first and only person from H.P. to be appointed as the
Chief Justice of India ?

(A) Justice M.C. Mahajan (B) Justice M.H. Beg
(C) Justice R.S. Pathak (D) Justice P.D. Desai

STH T DI TEHTel TC31 1 T2 T Shetldl & Sl YA o G ATl @ i o
frgw gan e ?

(A) =iy v =, qgeE (B) =mnefisr g wE. S
(C) =i 3TR.Th. IIesh (D) =renefiy 9 & <Erg
145. Dhankar monastery is located at which place in H.P. ?
(A) Kalpa (B) Kaza (C) Keylong (D) Pangi
gehR T3 feaaet yew H shal W feya § 7
(A) el (B) =TSl (C) whamm (D) wrft
146. Nuwala is a festival of which tribe of H.P. ?
(A) Kinnauras (B) Lahaulas (C) Gaddi (D) None of these
Jarer feurerel yew <l ford ST 1 U e 8 2 .
(A) Torait (B) dTEtet (C) (D) T & I3 &

147. Skodi fair is celebrated in which sub-division of H.P. ?
(A) Jogindernagar (B) Palampur  (C) Rajgarh (D) Kandaghat
Teur=ret yew o form Su-1ued H whig! AT HART ST & 2 .
(A) TR (B) 9Ted X (C) TTe (D) HISTEE

148. Namagen is a folk dance of the people of which district of H.P. ?

(A) Kullu (B) Mand1 (C) Kinnaur (D) Lahaul-Spiti

AT fewTerel west o fopd et < ST ol Tl & 2

(A) Fo (B) wuE (©) R (D) RISt
149. The longest tunnel on Kalka-Shimla railway track is

(A) Barog (B) Solan Brewery %ﬁﬁl

(C) Kalka (D) Tunnel No. 103 AT

HTeTehT - FTHET (otd AT W o Teft T i EH 7 7 .
(A) ST (B) @A sadl  (C) heTeht (D) T T 103
150. Under the Indo-German programme a dairy development plant has been set

up in Mandi district at
(A) Slapper (B) Sundernagar (C) Pandoh (D) Chakkar

SUST - ST o Ted HUS! TSied H <l W Teh Sl ferehr Tt o S w1 @ 7
(A) TIeT (B) G (C) wer (D) ==t
151. Nurpur princely state was founded by
(A) BirChand (B) Hamir Chand(C) Jethpal (D) Bir Sen
L TTET TS < TATOHT T <6 off 2
(A) fr=g (B) @Hitee (C) Seurd (D) &&=
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152. Which princely state was annexed by Lord Dalhousie under the doctrine of
lapse in 1850 A.D. ?
(A) Bushahr (B) Baghat (C) Keonthal (D) Suket
gy fifd o a8 1850 H i Sagist g f 1 @ &9 § TS TST T G
IERIRICI I

(A) FIR (B) s (C) ®3qiged (D) G
153. Vedic name of river Ravi 1s

(A) Purushni (B) Arjikiya (C) Askini (D) Vipasa

e} A& 1 Afesh T R

(A) eSOl (B). AT TR (C) arfet (D) faamen

154. Mulang valley is located in which district of H.P. ?
(A) Lahaul-Spiti (B) Kinnaur (C) Sirmour (D) Solan
femmarer gew % fone et & ot =t feua 8 2
(A) dE@a-gfifd (B) fraR (C) RER (D) HieH

155. Bara Shigri refers to which of the following in H.P. ?

(A) Mountain  (B) Glacier (C) River (D) Wild animal
et femmaa yew 6 =1 # & fopm wghia swear g 2
(A) wETe (B) feme (C) 7 (D) == woft

156. If in a certain language, ‘COUNSEL’ is coded as ‘BITIRAK’, how is
‘GUIDANCE’ written in that code ?

Ifc wsh Mfvad & 91 § ‘COUNSEL’ %fed 8 ‘BITIRAK’ % @R W, dl

‘GUIDANCE’ ¥ fed g 2
(A) EOHYZKBB(B) FOHYZJBB (C) FPHZZKAB (D) HOHYBJBA

157. In a class of 50 students, Mahesh is eighth from top. Himesh is 20" from
bottom. How many students are there between Mahesh and Himesh ?
(A) 22 (B) 23
(C) 24 (D) Can’t be determined
50 BTAT 1 Teh Hefl §, wew MY § 3real 2 | fedw = @ 2047 & | 7Egw a0
fewer & 7ed fopa B & 2
(A) 22 (B) 23
(C) 24 (D) Taeifca 72 feran S Tehen

158. Pointing to a man in a photograph a woman says, “He is the father of my
only daughter-in-law’s father in law”. How is the man related to the woman ?

(A) Brother (B) Husband
(C) Brother-in-law (D) Father-in-law
T BRI § Th J9 ﬁmﬁ%@ﬂ%ﬁw% “g U0 THATH
AGY o HEL o YT & |7 9% T69 36 &l § Tohd TRohR Haierd & ?
(A) W (B) i (©) & (D)
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159.

160.

161.

162.

163.

164.

16S.

166.

167.

168.

169.

170.

Which is different from the rest ?

hiH &1 3= | T g 2

(A) 11 (B) 21 (©) 31 (D) 41

Which animal has recently resurfaced in India, in Mizoram’s Pualreng
Sanctuary, after a gap of 108 years ?

(A) Snow leopard (B) Hyena
3% Yamuna Dolphins (D) Doria’s foam-nesting tree fro
3 9 1 ot S Eren € i e 35 B 61 et o A 108 %
JTAUA o ST YH:98 T IR T3 2
(A) 918 (B) ERAT (STehgaren)
(C) AT SiehH (D) sifen =1 wH-afee d-wm

Professor M.S. Narasimhan, who passed away recently, was associated
with which field ?

(A) Physics (B) Mathematics

C) Textile Design (D) Architecture

TH.TH. e, et 21a & 8 e 3o, fra e A g8 gu e ?

(A) i (B) T mem
(C) Zaderse fesmed (D) 3Tfeheerr W
Which tennis player has recently clinched the Italian Open Tennis Tournament ?
(A) Roger Federer (B) Rafael Nadal
(C) Novak Djokovic (D) Andy Murray

fopm efg figarel A 31ft g1 €1 0 Serferem 3o g ST g ?

(A) TSH%BSW  (B) ThaA S  (C) -iamh (D) W& |
Antonym of ‘Retrieve’ is

(A) Respond (B) Dismiss (C) Foil (D) Abandon

One word substitution for ‘Printed notice of somebody’s death’ is
(A) Condolence (B) Calumny (C) Obituary (D) Ouija

He preferred cricket any other sport ?

(A) against (B) to (C) over (D) than
Meaning of the idiom ‘To carry off the bell” is

(A) To call others for help (B) To bag the first position
(C) To steal all wealth and flee (D) To trouble others

=g’ o1 Gl foene 2

(A) 9+38 (B) d9+3% (C) fa+=8 (D) fa+38
“Bree s gaE 2

(A) dcges (B) EHifs (©) &= (D) r=zfivre
“HHTC | 399 g
(A) ¥ (B) W (C) X (D) T
IAf 1 TEHET 8
(A) it (B) arfesnt (C) 3cpd (D) 3TRIEY
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